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Covers throash 4hs Crday (Ch 2,3, 5,6)
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§6.1 % Counding
Counking profem: deXorming fhe carMM\i'\y of a sei

/'( ohbiv\a\o\ri cs

ProdwcX rule: Sugpose tholt o procedure can be broken
down &s o Rqlenle of Ywo fasks. T dere ave

N woeys fo do the firet Yask
N Ways Yo do the 5960'\«* 1’«5"*,

Kan Yhere are mn ways to do the procalure

¥ Qor any of B w c\orces €or the Lirst msk

EX 1~ \\ow MV\\I WAYS are “&fe ‘\o wml*e a IC'HQI‘
Llewad by o &(gi‘\’. (e.5. AO, C¥, Yl)

Ans: 216 IQ'\’\QVS . 10 J\;s\"(s = 260 ways



Ex 1: L employers, (L offices. How many Ways are oy
Yo assign eadh ewployee an office’

Ans: 11 checes for Enp“"[ee 1., ‘H-Qh 11 (rchqir\l'na'.) ((\,,‘c@
Qor E"\flo‘{eg 1.
1L-1= 3 borny S

x 7 Now many one-to-one funchions ave Hhere
frem & sef with welfs o one with A elfs.
€. ™= 3 h=s
S chices Q >< P
Y chaices b ﬁ
Y dics €T jt

Anst W (n-1)(n-2) = (n=m41)
(T¢ myh, Ms is Q)



S rule: ¢ w Jcas\: Can be done eithor in ont °'(
N WayS or on of N Ways, with he ovrfap,
Nan fere ave Mih Ways to do 4t fast.

Cx: How mary length-2  “worgs are thre where ile
Qred Vel s coplal or lousey - cage  awd Hhe SRA
¢ lower-case?

?\r‘s\ \e\’\cr'- 16 # 16 = SU Claices  (sum r\u\e,)

Second \eWer . 26 Chovces

TQ)M;\ L QL 6= 3SL °wav‘ds“
(erodweX rule)

EX \¢: \‘\ow hq"\‘/ PO‘SSUQY‘OlS dre ‘H‘Qf'(. Sﬂ"l.s-(yfna;
‘\\ Lthg’(‘\ 6,7) or §

V) Make up of digils and wpercage lethers
0 At least one dia;'l‘



Lengtl, €:
26410736 Chowces for each a\l'gn"\‘
Tolo\ passwerds sakis fying )
3 36-36-36:36-3¢ = 36°¢
v Y

1t 1nd
&\5;'\ d“iﬂ'

?«Ssuer}\i (oh’(o\:hil\j em\y Ie‘Herg ( 1@ Vl'o,Q‘hhg c))t
261626262626 52¢°

Lengtn- 6 volid passwerds: 3¢~ 26°= 1,867,066, S60
Length-1 walid  pousswards: 36 - 26’
Lewobh-€ volid possuonks: 3¢ % %7

Tohal = 365 2¢¢ 367 167+ 3¢ 26 = 2,604 483,063, 3¢0

S‘m‘o*ra\c\tovx rile: T€ & dask can be done eithar
n oht o-( N ways or owr e{ n Mkys)

(pv\l\ OV'QP\O\P 0( 3 ) ){\sn.\'\ ’(\.o,m Ove M+th -h
Laays to do '“\L ‘fo«s[’.

|Av Bl = |A| +18] - |A Bl

M N k



Ex 19: How many 0L-staings of lengih #
e \\er S*M‘\‘ wl 4 or QNA w 00¢
Start wl 1:
A ek Kk % »X
A-1-2-1°2-L-1°L =122 Chewces
Enh «/ 00
<« % * X400
LWL AL 6 (haees
St w1 AND end wf 00:
Lwrd %00

12102 L L1 = 32 choces
Ans: R3+6¥-37 - |60 Strtngs



Division rule: Tf Yo are n ways *+ do o
’\Qs\(, and Yrothp s °Q A of tese Way ¢ Gre

Q%A\\Vo\\&vx\) ren ‘“\Qrg LTI Ways WP to
R4(AA\ence.

Ex 10 Wow many  Adfferent ways e there
fo set W ponle aronnh & cieculir telle,

\o\\er& {wo S%’ﬁhﬂ\ Qe Con S‘\‘Nr'eA %aiw\\an‘]*
{ Hay @ nfodims of 2ach other?
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BOD ao AOC ~ DOG’\-‘ (OA
c R A D

N Y‘G’\d\*tmi b{ QQC‘A Ra\:t\ﬁ qrmhgem"'}

321 72¢ copting arrang,men*s

LY
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